Paper Code 2023 (1°-A) ]

Number: 4196 INTERMEDIATE PART-II (12" Class) | ROIINo:
MATHEMATICS PAPER-II GROUP-II AN~/ L2~ 273

TIME ALLOWED: 30 Minutes ] OBJECTIVE 1 MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is orrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question,
S.# QUESTIONS A B C D

1 | Slope of line which is perpendicular 0 1 2 Undefined
to y—axis is:

2 | y—intercept of the line % % % %

2x +3y-5=0is:

3 | The point of intersection of medians Incentre Centroid Circumeentre | Orthocenter
of a triangle is called:
4 | (0, 1)is the solution of inequality: | x =3y >0 x +y>0 x<0
5 | The end points of minor axis of the Vertices ertices oci Eccentricity
ellipse are called its:
6 | The length of latus rectum of -8 4 8
parabola y* = —8x is:
7 | The vertex of the parabola 1,-2) (=4 -2) (1,2)
(x +1)*=8(y-2) is:
8 | The length of diameter of the circl 8 16
x*+ yt=16 is:
9 | @x(v.w) is Inner product | Meaningless
10 | The value of F ¥ 1 2
11 | Lim ()= 1 +c0
12 | f(x)=sinx is: i e ] Ptunction Constant Linear
% : Bihil function function
13 1 1 1
If y=x+-% —=1 = — -1
B xr o x?
14 1 -1 -1
If_y & sibh %, then
X x:-1 x*+1 xt -1
15 | Derivative of cosx W.I.t. COSXx is: —sinx sin x 0 1
16 | The function f(x)=3x’ has -1 0 1 2
minimum value at x =
17 | = 0 1 2 3
j sinxdx =
18 | If y=x*, then dy = 3x? xtdx 3xldx 3xdx
19 b o a -h =b
! [rixyde= [foode | =[fae | [f) ~ [ f(x)ax
2 a [ b -a -a
i 20 jf'(x)dr inf(x)+c| inf'(x)+c in f(x)f'(x)+e Inx + ¢
it f(x)
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INTERMEDIATE PART-II (12" Class) 2023 (1-A) | RoliNe: |
MATHEMATICS PAPER-II GROUP-I1
TIME ALLOWED: 2.30 Hours [ SUBJECTIVE [ MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-L /TN ~/2L2X
2. Attempt any eight parts. 8§x2=16
(i) |Definea polynomial function of degtee n. (ii) Determine whether given function F
. isevenorodd f(x)= 46
(i) | poaluate Lim (l L3 ]2" () | Find the derivative of x and also calculate
=g n the value of derivative at x = 8. N
v = vi ind @ i 2
) Differentiate w.r.t. x x> +2x *+3 bl |ffiest dx if gy y'se
(viD) | pind ¥ if x = ysiny (viii) | Differentiate w.r.t.x x”sec 4x
dx
(%) | Find dy i y= gel (x) State Maclaurin’s series expansion.
dx
(xi) | Define optimal solution. (xii) | Define the associated emotion of an inequality. |
3. Attempt any eight parts. 8§ x2=16
() |Find éy and dy for y= x*—1,when x (i) | Evaluate | ( - _l_]’ ”
| changes from 3 to 3.02. Jx
(iii) | Evaluate i & e (iv) | Evaluate _[xzfm: dx
4+ x
1 . H N Ny |
V) Braluaie j.{xg 1) (vi) | Find the arca be?ween the x —axis and the
S curve y=4x—X
(vii) | Solve the differential equation Ea’,vx_ .- (viii) | Find unit vectorin the directionof v=2i = J
X
(ix) | Find vector whose magnitude is 4 and is x) Calculdte the pfojection of a = i—k along
parallel to 2i - 3j + 6k beni+ R
(xi) | Find a unit vector perpendicular to the plane | (xiijygt Prove that j — 2j + 3k, —20+ 3j -4k and
containing @ and &, a=i+j, b=i-j i 3) + 5k are coplanar.
4. Attempt any nine parts. 9x2=18
(i) | Show that the points A(3, 1), B(-2, - 3)andc(22) are vertices of an isosceles triangle.
(ii) | Show that the points A(-3, 6), B(3,2) and C (6, 0)are collinear.
(i) | Find an equation of the straightdine if it/s perpendicular to a line with slope —6 and its y — intercept is ia ;
(iv) | Write down an equation ofithe line which cuts the x —axis at (2,0) and y— axis at (0, —4). B
(v) | Transform the equiation Sx )12y + 39 = 0 into two-intercept form.
(vi) | Check Whether the lines 3x—4y—3 =0, 5x4+12y+1=0, 32x+4y—17= 0 are concurrent ot not.
(vii) | Find the distance between the parallel lines [z 2x =5y + 13=0and /,:2x -5y +6=0
(viii) | Find the centre and radius of the circle with the equation 5x” + 5y +14x+12y =10 = 0
(iX) | Find fhe co- ondinates of the points of intersection of the line 2x+y=5and the circle x* +y* +2x-9=10
(x) €| Write equations of the tangents to the circle X+’ —4x+6y+9=0at the points on the circle whose
ordinate is —2 .
(xi) | Find an equation of the parabola whose focus is F(-3,4)and directrix is 3x—4y+5=0
(xii) | Find an equation of the ellipse having centre at (0, 0), focus at (0, — 3)and one vertex at (0,4) |
L(_xiii) Find an equation of hyperbola whose foci are (4, 0)and vertices (£2, 0). R
SECTION-IL
WOTE: Attempt any three questions. 3x10=30 ‘}

(b) | Find by definition the derivative of cosvx .

5.(3) Prove that L;mg—:-l- =log,a
=10 X
6.(3) | Evaluate I xdx (b) | Find equations of two parallel lines perpendicular t0 2x- y+3=0
x'+2x"+5 such that product of x— and y— intercepts of each is 3.
7.2) | Find the area bounded by the curve y = +? — 4x and the x —axis.

[ (b) | Maximize Fii

y)=x +3y subject to constraints 2x+5y<30, 5x+4y<20, xz0, y=0

5

= x* has minimum value at - 1

\j-(a) lShow that y

[
(b) | Find the equation of the circle passing through the points A(4, 5),

B(-4,-3), C(8,-3)

[ 9.(2) | Find the focus,

Vertex and directrix of parabola x*-4x-8y+4=0

| (o) | Prove that by using vectors method cos(a

— ) =cosa cos B + sin¢ sin

-
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